Balance of payments

UK, 2023, £ million

Trade in goods
- 187677

—>

Current account
- 53339

Net transactions

Trade in services
+ 172621

Equation:

Primary income
- 18302

Capital account
- 5519

Secondary income
- 19981

Financial account
-48145 *

Net errors and
omissions + 10713

* minus sign (-) 'Financial account':

Financial account = Current account + capital account + net errors and omissions

in numbers: -48145 =-53339 - 5519 + 10713

Source: Office for National Statistics (https://www.ons.gov.uk) [2024-12-29]
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